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M 14+ 28+ 42 = T

@ 20+ 22 + 45 = T T
@ 24+ 19+ 21 = T

@ 18+ 21 + 39 = T

® 38 +42+ 16 = T

© 17+ 26+ 23 = + +
D 14 4+58+ 6 =

® 26 +20+ 4 = + +
@ 16+ 14+ 7 = +

w32+ 7 +53= +
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w14 +(28 +42)= 14 + 770 =84

» 26+ 22 +45 =(25-
=70 -

-45) + 22
- 22 =| 92
- 40 =164

@ 24 +(19 +21)= 24 -

@ 18 +(21 +39)= 18 + 60 =L/8

® (38 + 42)+ 16 =80 + 16 =196

© 17+ 26 +23 =(17-
— 40 -
M 14 + H8 6 =14
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® 264+ 29 + 4 = (26
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-23) + 26
- 26 =06
6) + 58
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- 4) + 29
- 29 =09
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16+ 14)+ 7 = 30 A

an 32 +( 7 +53)= 32 + 60 =92

2R BRI o—RD A Y365 hitp://www.print365.net




